RKC8T-2/TXL

RITESMERES B4 . PUR — Connection cable

M12x1 215 ~514

3

BAREIE
BE RKC8T-2/TXL
®5 6625142
S Tyt REHENBE AR TE.
BREAA #3k, M12 x 1, B, A-coded
HEHE 8
i J= %1, Cuzn , £
AR E B, TPU, B
TEIEF B, TPU, B
TE IR /9R4T 1, Cuzn,
Seal BH, FPM/FKM
W > 100 FEEIRE
EREE 3
RipEE IP67, IP69K, REITERET
B4
KB ER @ 5.8 mm +0.20
BEKE 2m
REPE PUR, 26
Sgp G PP
KOBER 8 x 0.25 mm?
REL , ME 32x 0.1 mm
SEHE BN, WH, BU, BK, GY, PK, VT, OG
BSMEE@20°C
WMEIEBE 30V
izt 8 FE 2000 V
B 2A
#a2% R > 30.5 MQ/km
EmEBME BAfE 79 Q/km

R
cus CE UK | |roHS Ipaok

LISTED ' n compliant DEGREE OF
PROTECTION

HODD] 4 &

g /

(! =
Yaaac I

M Female M12, straight, 8-pin

NHFEME : PUR

NP EHE : 26

NEATiEsE

bR, REAL, Mh

B ESMHEMRM (UL 1581 FT2, IEC
60332-2-2 )

LNyt Yo

BFEXE. G5, PVCHLABS

45 5 T EE R

BB ER : IP67, IP6OK

BEHKE :20m

SLEBME

b R4 B

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

RKC8T-2/TXL| 17-11-2024 01-00 | REREARME K



BAREE
1 Bsz(v)H =Bl
BRI b ENZO O sk
5 O
THEE (EERLE) 2 5 x0 T S BGY
THER (M) > 10 xQ@
EH¥ER =587
Lk
B R 875 5 m/s? e RE
B PAERERE 5m (5 m/s* i) MERTTRIPRS , EhEEAAEEES
Pl 4 < (EBIRE=BHCW11/2016 ) o
BHEEARRE 2m (5 m/sR ) BEEE THA S S B ADIN EN 60947-5-2
AR R 3.3 m/ A=
BIRRRE m's ( B4R BECW16/2017 ) o
5 H + 180 °/m
WERE (BEE ) -50...+80 °C BEERE
NMRRE (#%3)) -25...+80 °C
WRRE () -25...+60 °C 54 BN
T I WH
TAIE cULus 12> i a1l
I3)
| 45 BK
i 551 GY
: 6> PK
K am—c
| 8
BB
Bl [DIN47100 (/R ) DINEN
60947-5-2 ( %7 )
1 B ¥R
2 [ H
3 & B
4 = B
5 gF gH
6 b} »
7 & VT
8 aq i)
Bt 4
BS8181-0 6901004 BS8281-0 6930862
PH AL A SKIERERS , M12x 1, E gL N LiERmYE  M12x1, B
B, 84, BERELEEE  BHfF AR 8t BEEREEIEEE B
~603 B3P 7L6.0E8.0 mm , LB E/E 26 i 7.6.0F8.0 mm , LISHEEBE/
2] aATEER0AAE050 mm, BH [o2™ ] 142 T AER0.1420.50 mm* , 2
p202 18 17 s AE , 2EERERLT S, 2EERERLT

M12x1

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

RKC8T-2/TXL| 17-11-2024 01-00 | REREARME K



CMBS8181-0 6930792

P AR KIERESR , M12x 1, B
B 8%, IRETHRATER | B4

TORQUE-WRENCH-SET-AS 6936170

HBERFES ; LEBEAEHE04-1.0
Nm , FAFM8 (SWO)HiBERTE , A

£6.0-8.0 mm, & SEBHE/LIHRE FM12 (SW 14) I R AR F
0.14-0.50 mm? , BRHFE | £EIR
&, IRK, ZATUAR
BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206
TEL # TXL &4i45% , KE : 18
mm , S : 4mm , #% . REERE
(PC) , His : A , F2xE , M
18/
Vo
B 44
RY¥HE HE *®E
LABEL-HOLDER-FLEX-PVC 100048170 BATFHRRERLEHHPVCIRZER ( TEL/

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3

TXLE@RRY ) ; SANKYEER : &
N5mm ; RYH4 x 18 mm ; BFEM
% . §8504

RKC8T-2/TXL| 17-11-2024 01-00 | REREARME K



